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2 Quiz 8

This quiz is graded out of W marks. No books, calculators, notes or cell phones are allowed. You must show all your
work, the correct answer is worth 1 mark the remaining marks are given for the work. If you need more space for your

answer use the back of the page. é/-\ m 157:'% [(g i %{}% Tiz 1

Question 1. pg.142#26 (2 marks) Express in terms of # simple Iogan'thmg
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Question 2. pg.142#36 (2 marks) Express as a single logarithm with coefﬁcient of one:
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Question 3. pg.144#73 (6 marks) Solve for x:
log,(x+1)+logy(x+4) =2
= lag, (x+Dx+ 4)
2= log, [t o]
109, [X* 2 bx+ U]
2= L
q - o 1ox +Y since X 15 the inverse of l@ggx
O = Xl ‘}’gx (\'\n@é
)
Z +g3 /L{ IV\(/
O /7< (X \ ’ ﬂ . \Oq J&%
- H¥ -
X=0 K= 5 Y \OG}L/ ‘05107
/t ot v 4! ot 7 (,’lﬂ)(
W Tow \09
5oL



